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) | & =X 1 14, 124, 296
LT = 1 3, 655
HRHEI T = 1 2,400 |#EH! 2 m3
J113)
T EROASN OB /NS (BEHE)
BET = 1 1,044 | BEIK (BE82) BE - 0.2 m3
(BHAB®)
2. 5mATH
Rkt A = 1 211 | iEmEER (B 1) 0.5 m2
(BHAB®)
T i S O I BRI
£ 9 - B 87 AR T 2 1 10, 775, 170
e+ T 2 1 378,301 |FRIEY 1 X
+4)
HmEEE 1 =X
HEL 1 2V
+4)
HEL 1 2V
+4)
FEHA O-27) 1 X
+1 850, 000m3AT ;
T wb AT 1 =X
0 Cadl- EHIRY £5T) ;
BRZK i T = 1 3,225,202 [ Lav))-} 35 m2
18-8-40 (&) W/CHEEML B 10cm ;
/7Y =} 37 m3
(BHZK )
24-12-25(20) (F5F) —MaB/E
Tl e 1 =X
— A
[5Nin] 1.78 t
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SD345 D13 ;

2Ty 5 N
B=300 ¢ 19 MRS ;

1B 10 m
CF (Yt #1) 200X 5 ;

H Hi 6 m2
T W B A =20 ;

B 1 =X
BREXy NRE

VIR 0.3 m3
CBSLTHD)
18-8-40 (@ijF) —MeaE4

T 1 =X
— A

Bt T = 1 62,958 |2//)=} 0.4 m3

24-12-25(20) (FlF) —MaB/E

T 1 =X
— I

ki 0.01 t
SD345 D13 ;

AR 1 X
£<40kN/m2[t<120cm] ;

HIJFL 4 (T
616X 130 ;

T I —1% 4 i
D13X540 DI3FHHAEN7 T ;

1EAkma—7 3 m
¢ 17

Fov LT 2 m2

AET 2 1 7,108,709 |avy)-p 1.3 m3

24-12-25(20) (F5F) —MaB/E

T 1 =X
— A

[5Nin] 0.05 t
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SD345 D13 ;
AR 1 X
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25 1 =
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1B 5 m
LA IE KA
H HihR 5 m2
TR AHERT B i t=20 ;
229 hRT797 F =) 1 ]
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LR L 2 1 1, 264, 090
/) =h7" my ) T GEF7 vy /5R) = 1 1,117,595 |87 ny/iE 21 m2
£ 2 20cm ;
W7 ny R 109 m2
7 uy) - EEIEEAA
1= 50 N
iR (8) ¢ 90X 1600 ;
RO & 50 m
JRAA (#2) ¢60;
a/))=b7" wy) T (77 nyJi) = 1 145, 164 | BRIEHTHpsa 00—} 1 m
18-8-40 (75 47) JEIE 30cm & 35¢m ;
o7 my R 6 m2
22 10cm  230kg/m2LA Lk ;
Bl HT Ruiav - 0.2 m3
18-8-40 (B ) ;
v bk b)Y = 0.6 m3
18-8-40 (mF) — a8/ |
fiA T 2 1 1,331 |9E% 0.5 m2
IR T 100m2ATH ;
B E T = 1 315, 162
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Bf5 1k AL =X 26, 587 | HAyE (KR BA (AT 11 m
M 1 Im EARESA BRI
PEE: T 2 174, 454 | Bl FTREE: 1 &0
18-8-40 (B JF) FAI79v47/40~0 ;
e 2V 25,416 |HE Y av)-} 6 m2
18-8-40 (&JF) av))-MEREIEIHEM  t=10cm ;
PRIRAE L = 78,270 | PRhRAGRR & 1 &
R ;
HEE L = 1, 766, 219
e+ T 2 2,202 |RYEY 1 X
(BHAEE)
+H
HEL 1 2V
(BHAEE)
+H
B MM = 1 = 11,902 | Bzttt AT - S57% 55 1) f 11 m
R
A A#ELT = 774,161 | KRG E 1 &
BRI AR
W7 ny s 109 m2
R
HEETE LT X 790,700 |22/ -MEEHEUE L 5 m3
SRS MG T ;
/) ) -MEEEBUE L 19 m3
BRAHETE Y MR T ;
EL LR N 2.7 t
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T4 | W6 T WACRERM - A8 B L T4
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1% Sk el Te)
TE LB T =Y 187,254 | BaEH 5 m3
/) -k (BERR)
Stk 19 m3
/) -hk (BRAD)
RISy 5 m3
/) -k (BERR)
RISy 19 m3
/) -hk (BRAD)
B8 A St 2.73 t
AT Z T,
[ERAE Xy = 14, 124, 296
HiE 2 = 2, 620, 000
HiE R = 204, 000
BGRESGESE (5 L) = 204, 000
B (FEHL) = 2,416, 000
T = 16, 744, 296
Bl gy = 6, 699, 000
T =5l = 42, 880, 523
— R A = 7,759, 477
T =AM = 50, 640, 000
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) | & =X 1 11, 522, 227
LT = 1 338
Rkt A = 1 338 | IEmFETE (B 150) 0.8 m2
(EFHHER)
T i S O I BRI
£ 9 - B 87 AR T 2 1 9, 675, 672
EELT = 1 133,743 |FRHEY 1 X
+4)
HEL 1 2V
+4)
P v T = 1 937 | b E 1 X
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE
BRZK i T = 1 770,096 | Lav))-} 7 m2
18-8-40 (FJF) W/CHEEML #JZ 10cm ;
ay))=h 6 m3
(BHZK )
24-12-25(20) (FlF) —MaB/E
T 1 =X
— e
i53i0) 0.27 t
SD345 D13 ;
2Ty 5 N
B=300 ¢ 19 MRS ;
1EAKHR 2 m
LA IE KA ;
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VR W B A =20 ;
Bt T = 1 135,150 |2v7)=} 1.3 m3
24-12-25(20) (FidE) —feag A
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T 1 =X
— e

i53i0) 0.04 t
SD345 D13 ;

AR 1 X
£<40kN/m2[t<120cm] ;

HIJFL 4 (T
$ 16X 130 ;

T 4 N
D13X 1050 DI3HHHEN7 TV ;

1EAkma—7 4 m
¢ 17

Fov T 3 m2

AET 2 1 8,635, 746 |av)—} 1.4 m3

24-12-25(20) (F5F) —MaB/E

T 1 =X
— e

i53i0) 0.05 t
SD345 D13 ;

AR 1 X
£<40kN/m2[t<120cm] ;

B 1 =X
BEAy P

1B 6 m
LA IE KA

H HihR 5 m2
T W B A =20 ;

22y hRT797 F =) 1 ]
N FYINTAMFTT9 7" b

LR L 2 1 546, 630
ayy)=b7" my) (R E77 1y 3E) = 1 312,900 |fEj%n7" nys8kE 11 m2

150kg/fH AT 22 350mm JBEIA7° FAEME R
C240 18-8-40 (if) 7k y—} 4 ;
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Bl HT Rbiav - 1 m3
18-8-40 (&)
a/))=b7" wy ) T (77 nyJ i) = 1 114, 234 | BRIEHTHpsa 00—} 4 m
18-8-40 (75 47) JEIE 30cm & 35¢m ;
o7 my IR 7 m2
2z 10cm  230kglh b/m2 ;
R K R 2 1 117,367 | /KR 1 12 m2
18-8-40 (FiJF)  t=20cm ;
fiA T 2 1 2,129 |EZ 0.8 m2
IR T 100m2ATH ;
B E T 2 1 77,511
PEE: T X 1 77,511 | BUGFTRE B 1 &0
18-8-40 (B JF) FAI79v47/40~0 ;
HEE L = 1 1,222,076
e+ T X 1 4,847 |FRIRY 1 X
(EFHER)
+4)
HEL 1 2V
(EFHER)
+4)
e LT it 1 942,195 | av)- &Y L 1 m3
A EY) BhkE T
/) ) -MEEEBUE L 26 m3
ERApIEEY) FAE T ;
EL LR N 3.8 t
O PRAT - BB EM - BEAR - BRPAZERE - T4 0 IR
D% SRk BT & Te)
ERZE R 1 =X
(B7KERET)
) - MEEERR 15emZ 88 2 30emPL T ;
TR AL T = 1 275,034 | BoE M 11 m3
2y = bk (HERT)
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s foAs =
FEAENGRE
TS | SF6EE Ty #)IAKRAEM -« AR EE Sk TE
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Stk 26 m3
/) -hk (BRAD)
RISy 11 m3
/) -k (BERR)
RISy 26 m3
/) -hk (BRAD)
B8 A St 3.83 t
AT Z T,
[ERAE Xy = 1 11, 522, 227
HiE 2 2 1 2,251, 000
Mo R 2 = 1 172, 000
BGRESGESE (5 L) = 1 172, 000
B (FEHL) = 1 2,079, 000
T = 1 13,773, 227
Bl gy 2 1 5, 664, 000
T =5l = 1 19, 437, 227
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